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6.941 | 9.012 1081 1201 1401 1600 19.00 20.18
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Transition metals
2299 | 2431 2698 | 28.09 3097 3207 3545 3995
19 20 21 22 23 24 25 26 27 28 29 30 3 32 13 X} 35 W%
K Ca Sc¢ Ti Vv Cr Mn Fe Co Ni Cu Zn Ga Ge As Se Br Kr

39.10 | 40.08 | 44.96 | 47.88 | 5094 | 52.00 | 5494 | 5585 | 58.93 | 58.69 | 63.55 | 6538 69.72 72597492 7896 7990 83.80

37 38 RLV] )] 41 42 43 tE a5 46 47 s v b1 S 52 53 o )
Rb Sr Y Zr Nb Mo Te Ru Rh Pd Ag Cd In Sn Sh Te I Xe
85.47 | 87.62 | 8891 | 91.22 [ 9291 | 9594 | (98) | 101.1 | 1029 | 1064 | 1079 | 1124 | 1148 1187 12181276 1269 1313

55 56 57 2 73 74 75 76 77 78 ™ s 8! 82 83 84 85 86
Cs Ba La* Hf Ta w Re Os Ir Pt Au Hg mn Ph Bi Po At Rn
1329 | 137.3 | 1389 | 178.5 | 1809 | 183.9 | 186.2 | 190.2 | 192.2 | 195.1 | 197.0 | 200.6 | 2044 207.2 209.0 (209) } (210) (222)




